HH

FHSEERAFHMHREFELHEIIONT

1 BMAEIZONT

S2HFEEIL, an TR\l ENS, 4 ANPE8AFEFTEAREE L, 9 HDOHREAN
b, FOOMEOHEEZX LD, BHBEORESME Uiz, £, YLK o
BENLD, —HOZMEEZ 3 0 ALLFICIMATES 2179 L5, RE HEHRIR LT,
BRI BEEIZONT S, SIEE RO GEZ T L T\ 5,

2 BMREEHIZOWVT

(F 349 H 3 0 I

HEA 14 2 £ 3 44 5 6 aF
(RN 23 21 26 11 3 2 86
/)N 31 35 24 18 8 2 118
HU 28 31 28 9 5 1 102
B[N 37 36 23 10 0 2 108

HEAL H X 7K N & Al
(RN 14 11 18 25 18 86
FA /)N 26 28 12 29 23 118
HN 26 15 10 25 26 102
b/ 21 18 22 23 24 108




AH 1

3 ARSMEIZDINT
SIMHEEERND, ZMEN EH L TCWD, BYREFIL. S2IMENMETFT2HmNH
Do

ARMZmE (%)

100.0%
'.o.oo.o."'.
> ..o’.... .0. ..
--l.o‘.'.....‘. .“" . .c.
w‘O% .A'A:t TS eeh . o. ..
ey ® ..x:n,...,.... DN
] ‘A N,
70.0% T
---l---q\ %o L
60.0%
T d
) h \V/" N
50.0% L] H A

ZheE
o
"]
—
o
\

40.0% T:*‘E-«‘s 5 /,-
!

1 - - b e -
30.0% \1 \il,,.__- T a1
Nt -
\\ V’ /7 v
20.0% ‘\Y’I
\
10.0% vy
0.0%

sA | sA |eA | 7A | 8A | 9A |08 1R |12R | 1A | 2B | 3R
~o—P8/ R3| 89.6% | 91.5% |91.5% |77.5% | 59.1% |72.4%
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= g | A% | EBs | A% | B x| @ x| 5% | Ax
1 | 7PA<vFSE— 6| 86 5| 112 0 0 4| 81 15| 279
2 IaFHEE 4 59 4 80 0 0 4 77 12| 216
3 DEAMT 4 48 4 80 0 0 4 76 12| 204
4 REH=E 4| 64 4| 66 0 0 4 73| 12| 203
5 T E 1 9 0 0 0 0 4 74 5 83
6 | BFERBRHE=E 1 18 4| 88 5/ 78 0 o| 10| 184
7 BEUE 4| 58 0 0 0 0 4| 84 8| 142
8 EHE 0 0 5| 106 0 0 0 0 5| 106
9 | F5oURTNLT 5 91 0 0 0 0 0 0 5 91
10 ZAITE 3 32 4| 83 0 0 4| 80 1] 195
11 NEE e 4| 42 0 0 0 0 4 76 8| 118
12| EAHEMNE 0 0 8| 149 0 0 0 0 8| 149
13 BiELE 4| 47 4| 86 0 0 0 0 8| 133
14 EEHE 3| 47 0 0 0 0 0 0 3| 47
15 U= 2| 28 0 0 0 0 0 0 2| 28
16 Fu XK 0 0 4| 63 5 88 0 0 9| 151
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